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reg_asym_us_avg (ppb) 1D pull distribution
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reg_asym_us_avg RMS (ppm)
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reg_asym_usr RMS (ppm)
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1D pull distribution

0.001506 + 0.1429

Mean

1.05+ 0.101

Std Dev

Underflow

Overflow

32217

X2 / ndf

9.977 +1.926

Constant

0.04527 +0.16220

Mean

1.097 £ 0.161

Sigma
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X2 / ndf
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reg_asym_usl RMS (ppm)
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1D pull distribution

—0.007995 + 0.1496

Mean

1.099 + 0.1058

Std Dev

Underflow

Overflow
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X2 I ndf

9.331+ 1.771

Constant

1.447e-16 + 2.868e-05

Mean

1.188+ 0.193

Sigma

65.28 / 53
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X2 / ndf
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reg_asym_us_dd RMS (ppm)
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